Tabla del 2 .,

Extendida.



2 X900 =






2x110 =



220



120 x 200 =






20 x 700 =






20 x 800 =






20 x 900 =






20 X110 =



2.200



10 x 200 =



2.000



200 x 70 =






200 x 80 =






200 x 90 =






200 x 110 =






1.200 x 20 =






2.000x 7=






8 x 2.000 =






2.000x9 =






2.000x11 =






2.000 x12 =






200 x 11 =



2.200



20 x 1.200 =






70 x 200 =






80 x 200 =






90 x 200 =






11 x 200 =



2.200



12 x 2.000 =






2Xx7.000 =






2 X 8.000 =






